Gasparillo Hindu School
Standard Three

Mathematics Assessment — End of Term

Answer each question on the line provided.

You have one attempt.

When you have completed the test click FINISH.

Answer:

No. Item

1. | Write in words the number for: (2 mks)
I. 10395 =
I1. 8742 =

2. | Write the numeral for: (2 mks)
1. 7 thousands + 2 hundreds + 0 tens + 5 ones =
II. 8 thousands and twelve =

3. | State the value of the underlined digit: (2 mks)
I. 6020=
. 8893=

4. | In the number 2 368 which digit has the least value? (2 mks)
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Insert the “equal™ * less than™ or “ greater than™ sign to complete the
table below:

1. 847 +4 097 9 384 - 4490
2. 1884 1 983
3. 6972 -231 8 239 - 231
4. 9594 3914+ 5 680
(4 mks)
6. | Approximate the following numbers to the nearest thousand.
. 5698
II. 798
(2 mks)
7. | Approximate the following numbers to the nearest hundred.
I. 2684
[I. 984
(2 mks)
Approximate the following numbers to the nearest ten.
I. 729
I. 5647 (2 mks)
12. | Complete the number patterns given below:
I. 34, 32, 30, 28, i y
II. 63,59,55, .47, ., .35
( 4 mks)
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13.

Write the missing numbers for the expanded notation

L 3930=( x )+( x X )+ ( x__)

IL. =(8x1000)+(7x )+(4x 10)+(4x__ )
( 4 mks)
14 | What is the largest number that can be formed from the digits below?
4196
Answer:
(2 mks)
15. | Jack had 1 476 plums. His friend Justin gave him some more.
Now he has 3 265 plums. How many plums did his friend give him?
Answer:
(2 mks)
16. | Tia has 7 587 mangoes in a bag.
She gave 689 mangoes to Sherry and 1 367 mangoes to Jason.
I.  How many mangoes do Sherry and Jason have altogether?
Answer:
II.  How many mangoes does Tia now have?
Answer: (4 mks)
17. | Find the missing number to complete the equation.
45+ ? =155
Answer: ( 2mks)
18. | Convert the following to meters:

I.. 3%km Answer:
II. Skm76m  Answer: (4 mks)
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19. | Sameer lives next door to his school. He walks a distance of 950 meters
everyday to get to school.
How many centimeters does Sameer walk?
Answer:
If Sameer walk to and from school everyday, how many centimeters would
he walk in one day?
Answer: ( 4mks)
20. | Approximate the following to the nearest Kilometer:
I. 6km500m Answer:
II. 3129m Answer: (4 mks)
21. | At the furniture store Candice purchased some items costing $ 1 578.00,
$456. 93 and $3 413. 23. She gave the cashier $5 500. 00. Calculate her
change.
Answer:
(3 marks)
22,

Alyssa bought a laptop costing $ 3 984. 00 and a cellphone costing
$ 2 672.00. A week later she sold the cellphone for $ 3 000.00

Calculate the profit or loss.

Answer Statement:

(3 marks)
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23.

Mr. Jack bought 4 cellphones for at a cost of $370.00 per cellphone. He
then sold them at $300.00 per cellphone.

1. Did he make a profit or loss?
Answer:

ii.  What was the total amount?
Answer:

( 3 mks)

24.

Lisa bought 15 m 67 cm of ribbon to make flowers. When she was finished
4 m 78 cm was left. How much ribbon was used to make flowers?

Answer Statement:

(3 marks)

28;

Andy has 3 lengths of cloth measuring 2 2 meters, 5 meters and 4 meters
35 centimeters. Mark has length of cloth 15 meters and 80 centimeters.

I.  What is Andy’s combined length of cloth?

Answer Statement:

(3 marks)
How much longer is Mark’s cloth than Andy’s combined length of cloth?

Answer Statement:

(2 marks)
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